20205 HRERIRREBEHFZKE XERAFEREHBRERHE

20194 10A8HIRTE
\ sy | PORAE| B SRR AR AR | AT AR | SR | SRR
WFFERE - R DA
A (N) (N ¢ (N |D (N [ECN) | BSJA | C/A | C/D
— % 8 0 0 0 0 — — -
- AT T R AN | ET4 4 4 4 4 - - 1.0
ZE SRl 3 8 4 4 4 4 0.5 0.5 1.0
ZEg ol R — % 2 0 0 0 0 - _ _
1% R AR HEN | BHT4 4 4 4 4 = = 1.0
&t 2 4 4 4 4 2.0 2.0 1.0
— & 5 1 1 1 1 0.2 0.2 1.0
T AT T R AN | ET4 7 7 7 7 - - 1.0
IR I R A R 3 5 8 8 8 8 1.6 1.6 1.0
IR U R R — % 2 0 0 0 0 — — —
1% R AR HEN | BHT4 2 2 2 2 = = 1.0
&t 2 2 2 2 2 1.0 1.0 1.0

X —fRIEROZENB TR NFRRK D TET4) 25T,




